Right Triangles — Pythagorean Theorem

Homework Section 8.2 Name

Use the Pythagorean Theorem to find the missing measure.
Give exact answers and rounded answers (if needed) to one

decimal place. -
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Homework Section 8.2
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Determine if the following measures can form a right triangle.
#13) 18, 24, 30 2

s
(L RY 464y 7 (3eY

32y + Sle= 2oe

G00 - 20O
\‘f/S, tws ;o(ms Q rght Triangle,

<
#14)

2,290 24 e ¢
Gyt G = 23

(oo + a4 2 Bl

T = %4\

\“CS, s rg-onns Q. rght 1 ravgle,

#15) 6,810 x” +Y° s .

() (8)" =Les)*
Zet Gy~ OO

/o0 =(00O

\“CS, s S‘“"‘S Q  rght Triangle,

#16) 1,23

A/O p) ﬂls dbﬁ VLO‘\— ;ﬂ‘“ Q (lsb* ".{"a”\sle'

Geometry
Page 2 of 4



Right Triangles — Pythagorean Theorem

Homework Section 8.2 Name

You must draw a picture for each of following problems, then
answer the questions.

#17) Draw a right triangle with vertices A(0, a), C(0, 0), and B
(b, 0) on a coordinate plane. Use the Pythagorean Theorem
to derive a formula for the distance between A and B.
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#18) Herbert is making a ramp to try out his car for the
Gnaden derby. The ramp support forms a right angle. The
base is 12 feet long and the height is 5 feet. What length of
plywood does he need to complete the ramp?
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The oNywwod is 13 Fert long.

#19) The diagonal of a rhombus is 48 cm long, and a side of
the rhombus is 26 cm long. Find the length of the other
diagonal.
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#20) The diagonals of a rhombus measure 10 cm and 8 cm.
Use the properties of a rhombus and the Pythagorean
Theorem to find the perimeter of the rhombus.
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#21) In a right triangle, the measures of the legs are 12 and x
+12, and the measure of the hypotenuse is x + 16. Find the
value of x.
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#22) A stair stringer is a board that supports stairs. Suppose a
set of stairs is to rise 8 feet over a length of 15 feet. Find the
length of the stair stringer to the nearest foot.
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